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@Zc*]:
» ÎZßV Óx�VÐ CÙ�Z[Æn/VÅ®Z�Z�ágèSìX zZzwÔz�zxÔzÎxX t6,p!ÎZÑ]&�V6,�ì:

�Z[�bÑiòìX
ìXCÙÎZwÆ ÑiòÎZÑ]���czèÎZÑ]&{à(%æFN�**&¿�Z[zZáÎZÑ]�XCÙÎZw»�Z[Ñiò  10 zZzw~ .1

(10 x 1 = 10 Marks) ��ìX  1a
/V6,�ìX (200) ÎZÑ]�ÔZk~Ð¤(̈DÃÃð0*õÎZßVÆ�Z[�¶�XCÙÎZw»�Z[½ã�zÎ 8 z�zx~ .2

(5 x 6 = 30 Marks) �Z]¿�X 6 CÙÎZwÆa
/V6,�ì (500) CÙÎZw»�Z[½ã0*õÎ ÎZÑ]�XZk~Ð¤(̈DÃÃð&ÎZßVÆ�Z[�¶�X 5 zÎx~ .3

(3 x 10 = 30 Marks) �Z]��X 10 CÙÎZwÆa
zZzw

(1) ÎZw
»H��Zg�@*ì? Rule of Inference (i)

ÉÀ�/õGX Inverse, Converse n�b�ÎZÑ]Æ (ii)

if he fails to follow orders, he will loose-this commission (a)

if the work is not finished on time then, I am in trouble (b)

~Ä§hV~èc*YYì? Ring ÃZq- (Children) �V (iii)

Hì? Coefficient » x3y10~ (x+y)10 (iv)

ÉÀ�/õGX Formal Power Series » Expression n�b� (v)

Åz�s#�}X Euler Circuit (vi)

¹V�@*ì? (Application) »ZEw Minimal Spanning Trees (vii)

ÙX Åz�s# Partial Ordering (viii)

��X Draw Ã ComplementÆGraph n�b� (ix)

13



for ar = no of integral solution to equation e1 +e2 +e3 = r (x)

ÉÀ�/õGX Generating FunctionaÆ  if   for each i.

z�zx

»ZEw�D�ñU*"$�� Binomial Theorem (2)

r U*"$�ØX (3)
p __> q
q __> r

:. p

Ãi�,X Expression »ZEw�D�ñn�b� Partial Fraction (4)

Åæ�Ðn�b�ÎZwÃi�}X Substitution (5)

an = an-1 + n2 where a0=7

7X c*ì Isomorphic Ô Graph Ã�N��Z[�Ø� Non Directed Graph n�b� (6)

ìX Tautology U*"$���t Åæ�Ð Truthtable (a) (7)

ìX Tautology »ZEw�D�ñ Substitution Method (b)

ìc*7X R  Symmetric, Reflexive, Transitive Æfg=Ð¥x��� DiagraphÆ R (8)

��X Expand Ã Expression »ZEw�D�ñn�b� Multinomial Theorem (a) (9)

(x1 + x2 + x3 + x4 ) 4
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ÉÀ�/õGX Generating Function Ã�N� Condition n�b� (b)

ìX Sequence Zq- �V

zÎx
mn > m +n Åæ�ÐU*"$�Ø� Prove by contradiction Ô if m and n are each integer >2 (a) (10)

»ZEw�D�ñÉÀ�/õGX Predicate Symbol Zzg Varible, Quantifier, Symbols n�b�Ò**]Ã (b)

All birds can fly (i)

Not all birds can fly (ii)

There is a student who like mathematics but not history (iii)

If n is a man, then n is giant (iv)

Not every graph is planar (v)

&ßÍV~Ä§hV~��Mh�X 30 Distinguishable books (11)

a) A and B receive exactly twice as many books as C
b) C receive atleast 2 books, B receive at least twice as many books as C and A receive atleast 3

3 times as many books as B

KX  10 permutationsÆ {3.a, 4.b, 2.c, 1.d} (a) (12)

¥xÙX Coefficient n1
2 n2

2n3
2n5

3 » Expression n�b� (b)

(n1 + n2  + n3 + n4 + n5)10

Ãi�,X Recurrence Relation n�b� (13)

ÉÀ�/õGX Algorithm » Breadth first search for spanning tree (a) (14)

¥x�,X Spanning Tree » Graph n�b� (b)

Åz�s#ÙX Properties of lattice Zzg Lattice (c)
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